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Nlodule-l
Obtain the FoLrrier serics ol lir) : x(2:r - x) in 0

Obtain the Fouricr scries for thc ttrnction f(x) :

(0tt llarlis)
aY1

li4-'irt--<rS0
l1-)- ({}6 llarks)
"l-4il in 0<x< -

-) 2

(()6 \larks)

(0tl \l arks)
(06 llarks)

x):.[x-*'in0<x<(is

(06 \larl<s)

Module-2

intlnite Fouricr transltrrt-n of t(x) attrl llctlcc cvalrtatc

Expand 1(r) 2x I as a Cosrne half range Fo Llnc f sericsin0<x<1.

I ri. Obtain titc const;tttt

OR
Le lttt rrn,.l tlrc coelllci euts of' the llrst C.osirle ancl Sirrc lcrtlls itt thc

lrorrricr crpattsiott tt I' 'y' from the

b. Olrtain the Fouricr serics o{'fix) : I x ]in -n < x < 7t.

c' Shou' that the sinc hall'rangc serics firr the lunction fl

)l y ' ,,,, 1-lrt'l'n*;' ? (lrr l.t' (

3 a. tI' 11 -):{ firrd the
lfbr xl(a
0 fbr ixl>a'

r Sirt.rI tlx.Jx
b. ijrnd the Irouricr Cosine trattslorm olc
c. Solr,e h,v rtsing Z-transktrtrts: Y,, : - 4Y,, .,. 0. givcn yr " () ancl yl '"" 2

OR

4 it. Irind the Fourier Sine

lt. irind the Z-trarisfllrnl

-tl
^ _.Ltrartsfortttot': ,a>0

x
olSin (3n + 5).

C. I:incl tlre inve rsc Z-transfirrtn o1-
2t) + 3'z

{z+2\tz-1)

xl0 2 -) 41

26 20vie 18 24 28

I o1'3
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N{odule-3
5 a, l:inti rltc. cocl'llcicnr o{'corrclatittrr fbr thc data

x i 3 4 2 5 8le 10 l3 15

v 8 6 l0 8 12 16 I t6 l0 J J

(0ti l l arks)
b. Iirt a linc to thc Ib data

(06.\larks)
C'otllptttc thc rcal root o1- r f.ogrox - I.2 .- 0 by l{egLrlii - Falsr nrethorl. (-arrl,oLrl thrcc
itcrations in (1.3)

6 a. Obtarn tltc lincs ol

C

I (t.

c. Irincl a rcal loot ol x Sinx +

Nor,ton - Ralthson rnethocl.

(06 \larlis)

OR
olx ancl v

(t)tt \larks)
ciat a

(06 \Iarlis)
Cosx : 0 ncar x : 7r. Corrcct to fbur dccirnal placcs. using

r the lbRegression fo

b. Fit un cr;lttrrcrrtial curve ol'thc fbrrn - aebn lbr the {b llorv

to llnci 4

o{'thclbrntx=fl1')

(t)6 \lrrks)

(06 \larks)

(06 \larlis)

(06 \larlis)

Nlodule-4
(iii'cn Sin :1-s" .,. O.1O1l. Sin .i0" - 0.7660. Sin
tisinr an nppropriate intcrpolution tbrmula.

5-5":0.E192, Sin 60":0.1J660. llnd Sin 57"
(0tt \'l:rrlis)

b. Llsc Ncrr ton's clil,iclcci cliff'crcncc i,cn tlic clata

C. Using Sitnpsons l,'3'.'l fi
t-
,/Cios 0 clO by divitling 10. xl2) rn to 6 ccpral palrs.

(06 \larks)

OR
ti a. Irronr the follo

b. Using Lasrangc's int IbrnrLrla fit :r

table flnci ber o1'stLrdents ii'ho lrave obtained lcss than zl5 marks

(0tl \Iarlis)

uateE
i ilrd* by Wcclclle's rLrlc takrng scvcn orclirratcs.

{,

Ycar l9(rl t9l I resr i teet 200 1

Pruilrrclion ( in torrs) 8 t0 12 l0 t6

x 1 2 J 4 5

v 2 5 J IJ 1

No. o['petals 5 6 1 8 9 l0
No. of flor,vers lJ-'r 55 /-\ 1 2 2

x 0 2 316
f(r) 4 2 l4 I lsB

Marks 30-40 40-,50 50-60 60-70 70-80
No. o1'Stuclcnts 31 .1)a- ,51 35 31

X 2 l0 17

v I 3 4

t,li I

- 
()l -l



Module-5
Verify Creen's rheorem in a plane for f {:xt -8y:)dx+(rly-
boLrnclary of thc rcgion cnclosccl by y .- fi,rnr.1 y - xr.

17MAT31

(rxi,)c'ly, r,r'hcrc '(l' is thc

(0tl llarks)

9 a.

l0

b. Vcrily Stoke's thcorent tirl F=(rt +l-t)i-2xy.j takcn lourxl thc rcctarrglc boLrnrlcd b1,'thc

lincsx:ta. v:0 arrd r'=- ir (()(rllarlis)
l

c. [)crir'c lJLrlcr's cr]Lration :'1 - -:-l ^1, i =,, (06 ]tarks)r\ .hL},t

OR

It. L.lse Gauss clivcrgence theorem to evaluatc llO a ds over thc cntirc sLrriucc o1'thc rcgion
";

aboyc xy plane bor-rnclccl by the cope ,,t *t l, ),t tlrc planc t 4

n'hcrc f' : 4xz.i + xy z:.j+ 3z K . (0t9 lrarks)

tl. I'rclvc that gcodcsics o1'er plarrc are straight lincs. (06 \larks)

c. I'ind thc: extrcmal of the lunctional l' 
t(rt 

-, -2ySinx)clx uncicr thc cnd conclitions
Jrt

)'(0) - y(ni2) : 0. (06 )tarks)
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(07 Il arl<s)

(07 \larlis)
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(07,\larks)

(07 \larks)
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Module-l
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{r_ i).r.l. Firrti tlre lnoLlului lrrrtl lrrtrpliludc ol' ': 
+

r,. I
t-,. l1'r + - 2 cos n, thcn provc that *" + *-xx
C

: 2 cos r-r cr"

I'ind thc lirurth rools o1'1 - \5autl rcprcscnl thctl on arl arganclplartc

OR

[1'lhcr,cctors 2i+]j+[ancl +i-L"i-2k arcperpendiculartociichotherthatt findlhc r,'aluca.

b.

C,

o t')".

l:incl thc sinc o1'thc anqle betw'ccn thc vectors ii= i+lr ii ancl i, = Zi*:l ' :fr
iiind ). such that lhe l'cctors Zi*l+f., i"Zl-:t ancl 3i+ )'j+S[ are coplatrar

\ I orl rr lc-2
I'rrnd thc n'1' clcrivativc of cosx cos2x cos3x.

\\iirh usLral notations pr'o\c tllat lan { - , 
q9

clr

1 a. [1'u : Tan-l

b. If u:

) cJtr rrtl
I . j)ro\e tllttl x 

^-" 
+ Y; =slll -tl

) tx cy

f Lr ou r-r.l
. pro\e tltat x; y- rz-- =l).& -AY 

0z

(06 \'l arks)

(07 \'l a rk s)

By r.rsing Maclar.rritt's crpansion.

(07 \Iarks)

(06 \Iarks)

(07 Marks)

(07 )Iarks)

(06 \larli.s)

(07 l'larlis)

b.

c. Provc tliat I -r sin 2x I + x-
:.1"1xxx +_+

1 1 11/-1 -+

OR
(x'+ v'
It.,

v z)
,L

-.1 xtl
Iv

luate

lutttc

I-.r,aa.

Ir, a

Eva

c 11'rr . c'cos y ! r"- c* sit-t y, llicl J: d(tr'r')
ot(x, y)

Module-3
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luate

luate

I.r lt6

I,r:.

a.

b.

OR
in6 x dx.

(r'+ y') dx dy, where R is the

17\{ATDIP31

(06 ){arks)

boundcd by the lines y -. 0 , y'.. x and

(07 Marks)

(07 Marks)

IS gir"cu bl

(06 \tarks)

(07 !Iarks)

(07 \Iarks)

triangle

r- I

rrittcIlvalC

7

iJa

IVIodule-4
a. A llarticlc nto\/es along a curvc r,r,l'rosc 1-losition vcetot

. r I : ' I t'\'r'- I i- t j'lt*;lk. [-'irrdtherclocityrrnrl accclclrti()llrtL-J.| .1 ',. 3)
b. Finrl thc trrrrt rrerrrrlrl \ector tti rlrc srrr'flrcc x) x zx -l rtt ( I. l. l.t.

c. lrinci cliv Ftuncl curl F, iihcle F - f(x'r - y'] - z3 -3xyz.1 .

\ \ 1/ , rC ' Ox 11) rll

S0lve r,: i' *l xv !,ly

clx

b.

c.

A partrcle nlovcs so thal its positiou vcclor is givcn by i - cos wt i ' ri,', u,t l. whele ri is a

c()nstar-lt. Show that lhc Ycloe it_v V is per-perrclicular to i. (06 Nlart<s)

lli'-(x.y* l) i* j -(**y) t,showthat F'curl F:0. (o7N{arks)

Shou,that t-1sin y+z) i r-1*cosy- z) j + (*-V) t isirrotational.Alsofindgsr.rchthar

it : V(, (07 Nlarlis)

Module*5

tlr v /vl'\r'ltt'..r. l'; 
ltl to6\l:r.Lr1

.lt
St,liC -{ r \L()tr=sint.

dx
Solve (xr t v)clx + (yr + x) cly: 0.

rlr \ ,Soliu,.--. -.)-x.
tlr \

Solve (v ros x -L sin y r y) clx'r (sin x
q=
dx

oR

J.J,J-J.L

v:0

I ll.

b

C.

a.

[r.

C,

(07 !Iarlis)

(07 \larks)

(06 IIarks)

(07 N{arks)

(()7 \larks)
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llote: Answer any FIVE full

1 a. Explain with the
JFET"

1

4

5

6

7

o
O

O
d

6
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.E
o
d

6^.UX
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dld&.=+
d<f
nboi:u
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8s
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o-i,E
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J<
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o
o
Z
a
cO
f
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E

and s, the working of n-channel
(08 Marks)
(04 Marks)

using IC 555. (08 Marks)

supply voltage Vpp : 16 V,
mA and gate voltage of 4V
Rs) (08 Marks)

(04 Marks)

b. Define the following
c. With circuit diagram,

2 a. Design a vo
Ioss : 10

b. List characteristics of

the

3

diagram and wa the Oscillator

Module-4
a. What are the various ways of ,"pr.ffiffi flop? Explain the various representation of

JK, SR, D, T flip flop" (10 Marks)
b. Define Register. Explain SISO using four D- flip flops. Assume initial values of 4 flip flop

QRST as 1010, write truth table and plot wavefotms. (I0 Marks)
l of 2

@ffi
17C532
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Max. Marks: 100

(08 Marks)

d. L.
,'&

C.

a.

b.

c.

b. Get
Mc

Y:AB+CD" (08 Marks)

Y(A, B, C, D): Im(O, 1,3,7,8,9, 11, 15). Using Quine
(12 Marks)

OR

OR

(07 Marks)

(06 Marks)
(07 Marks)

Module-3
a. Show how two l:16 deMUX can be ."r"*t.d to get l:32 deMUX. (10 Marks)
b. With IEEE symbol, logic symbol, explain NAND gate SR latch. Justify the Truth Table"

(10 Marks)

OR
a. Explain the positive edge triggered JK flipflop" (10 Marks)
b. List the differences between PAL and PLA. Explain 7-segment decoder using PLA.

(10 Marks)



8a.

b.

9a.
b

l0 a. Explain Successive
b. Write short note on.d{D

17CS32

truth table
(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)

(10 Marks)
(04 Marks)

draw the wavefonns.
(06 Marks)

OR
converter

and Resolution.
.?

':g,:i*

2 of2

OR

c. Design mod-s counter flip flops. Write
€'&r
!u&, t
;liw..*, .*'

the truth
.: ::
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Max. Marks: 100

q u estio n'ftom eoclt nt o du Ie.

arohitecture of IINIX OS.(0s Marl<s)

Note: lnsx, er atq) FIVE frttl qrtestiorts, 
"ili'rlirg 

ONE fittt

Nlodule-I
a. What is Operating Systern? With a diagram, explain the
b, Explain the following commands with examples :

)

3

4

ao
a

6

'oo
N
t)

UX
Q=

*.. il

.gN6\t

io
-o-E
o>

sqo=
OO

o0E

/6

3u
^i

^Y
id
a:

?.2
ir

:4
s!c

6.2

5e
o<
3cl
::

Z
d

o.

OR
a. Explairi the contents of /etc/passrvd and /etc/shadow files witli respect to UNIX OS.

r . (08 IVIarks)

b. Explain the Conrmands used to add , modifl, and delete a user with examples. (06 Marks)
c. Write a note on uran documentation and explain the kepvord option. (06 Marl<s)

' ,,,, " i\{odule-2 .,1,,-;r.r'
a. With the lrelp of a diagram, explain the Parent * 

"!hi!,clriQlationship 
in-UNIX file system.

,'] ,, :, ",. "'1i,,,." ;';i',,i (06 Marks)
b. Briefly explain the differ,erit,types of fiics supported in UNIX. ':,,i ';,,' (06 Marks)
c. What is Pathname? Describe the different tlpes of Pathnarr"s, with suitable exampies.

, ." ,i, ' (o8Marks)

OR
a. Wirich corrtmartd is used for listing file attLibutes? Explain the significance of each field in

i) echo ii) [s iii) who iv) date v) tty vi) lran. (06 Marks)
c, Differentiate betu,een External arrd Internal cornmands jn UNIX with suitable examples.

(06 Marks)

the output. (08 Marks)
b, Ass{min

required
g that a files currerrt permission are rrv - r - xr - -. Write the chmod expressions
to cliange them for the folloiving : i) nvxrwxnvx ii) r - - r- - - -

iv)
and Absolute rnethods of assigning permissions.

(04 l\{arks)

iii) ---r-----
Using both Relative (08 Marks)
Explain the fo llowing commands

rnv iiD rm
with example :

i) cat ii) iv) cp.

a, Explain the tlree different
fi'om onc nrode to another.

whicli vi editor works and explain l:ow you can switch
(10 Marl<s)
(06 Marks)

(04 Marks)

b. List and explain the navigation corrunands in vi editor rvith example.
c. Explain what these wild I' card pattern match :

i) lA-Z)????'* ii) *| 0-91* iii) *. [s] [h] iv) lta-zA-21*

:oR

I of 2
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17C53s
'I iii'

6 a. Explain the standard input, standard output and

b. With suitable examples, explain the grep command
Explain Shell's Interpretive cycle.

with respect to UINIX OS.
(10 Marks)

its various options. (06 Marl<s)

(04 i\{arks)

(08 iVlarks)

(06 Mtrlis)
(06 Marks)

c

Module-4
7 a. Explain the shell features of 'while' and !for' with syntax.

b. Explain the special pararne ters used by the shell.
c, Distinguish between hard lir,k and soft link, tvith suitable examples.

8 a, Write a shell program to create a lrenu olrl"r..r," a given options based orr user choice.
Options include i) List of useri iD List of processes iii) Current date and
iv) Quit to LINIX. , ',' (08 Marts)

b. Explain the following:coinmands with example : . ''

i) head ii) ,,rtail,' iii) cut iv) paste, (06 Marks)
c. Briefly explain.the sofi conrmand with its options, (06 Marks)

r' ' *oaui"-s,1, I9 a. Explain the three distinct phases of process creation. And explain hou, sliel1 is created.
(08 Marks)

b. Use find cornrnand to locate from home clirectory :

i) All files within the extension .htrn8.
ii) All files having inode number 1006.
iii) All directories having permissions 777.

, iv) Al1 files not accessed for more than a year.
v) All but the C prograrn files.
vi) All files named a.out and all 'c' source files and l'eurove them interactively. (06 N{arks)

c. Explain the nice conrmand with exarnple, (06 Marks)

10 a. Explain the following string handling n,*Ion. of PERL with examples :

i) length ii) index iii) substr iv) rcvcl'sc. (08 Martis)
b. Write a PERJ. program to determine rvhether the given year is a leap year or uot. (08 iVlarks)

c, With examples, briefly eiplain split and join,functions in PERL. (04 Nlarks)

r:, I

i,. :,::,
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